R# CNB5556

(81)

I N

#56

18.5

(115)

ouT

JRE BA IE:]
1 |&& NCu
N 2 [®vy7 (3604
[44) 3 |[FA ABSHifE
W26-14R ' 3604
L | ZREDE NCu
5 /=g =
1 6 [Sy*y PCTFE
7 | AODBRfEFy b NCu
5 8 |AOKE NCu
9 |wOnsnz —
10 |BEHIF =
PURGE @GAS
M16X 15R
W26-14R ]
F
&
10
ey
=
ouT
g
D
Y
&
)
(67) g
(93) (78) i
IN® ) —Shk—-@+ouUT
|
ML-1VR-3X5C-P3N1| 5. OMPa | -0, 1~1. 5MPa | W26-14 (R-H) [M16x1. 5 (R-H) 1 55
ML-1VR-3X7C-P3N1| 5. OMPa | -0, 1~0. 6MPa | W26-14 (R-H) [M16x1. 5 (R-H) %t“/\'/
ML-1VR-3X8C-P3N1 | 5.0MPa | -0, 1~0. 3MPa | W26-14 (R-H) |M16X1,5 (R-H) LIE0B [ e
ML-1VR-8X5Q-P3Ni| 5. OMPa O~1.5MPa | W26-14 (R-H) [M16x1, 5 (R-H) 29
ML-1VR-3X7@-P3N1| 5. OMPa 0~0. 6MPa | W26-14 (R-H) [M16x1, 5 (R-H)
ML-1VR-3X8@-P3N1| 5. OMPa 0~0. 3MPa | W26-14 (R-H) [M16x1, 5 (R-H)
L —RAREERED ZRERE AOMR HOMR
E R xR e R 7
BAiE 11,01,07  peproven L{; 9:»{(»@ 1(‘15.5,.2—03 CRWAN %fl T %iﬁ 3‘
RE sl K\ B -“.,' N
, SCALE 171 £ 5 %vX ML-1sr & DEG% CN85556 0O
o '15.05.20 £H# 9782 N o=
=TT @B TANAKAKRTIS 4 NISSAN TANAKA CORPORATION 2| TE A‘AWAIA‘A‘A




